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BHAY . BENYT4

5] BmMER ouT| IN GROSS | HDCP | NET %
1T AH EF 47 | 48 95 128.0/6/.0
2 )1 FER 47 | 48 95 128.067.0
3 & A 46 | 43 89 121.0/68.0
4 B RX 53 | 50 103 134.069.0
> f&H xE 51 | 42 93 123.070.0
6 |FH Bial 48 | 45 93 123.070.0
] EE E#& 48 | 49 97 127.0/70.0
8 By RIE 51 | 4] 98 127.071.0
9 | Xf# RE 49 | 49 98 127.0/71.0
10 [ET ZFB&h 46 | 45 91 120.0 71.0
11 hfg 3= 45 | 45 90 119.0/ /1.0
12 FeH FEi 43 | 47 90 119.0 71.0
13 |AR _SEAE 47 | 44 91 119.0/72.0
14 & 8BE 47 | 4] 94 122.0/72.0
15 Al 83k o0 | 44 94 121.073.0
16 |fIgR  F§F 53 | 49 102 129.0/73.0
17 |t E=E#E 51 | 50 101 128.0/73.0
18 &H HIR 46 | 51 97 124.0/713.0
19 wik #KF 51 | 92 103 129.074.0
20 Tl ®mF 49 | 53 102 128.0/74.0
21 aHF — 93 | 4] 100 125.0/75.0
22 BHF FF 54 | 51 105 130.0/75.0
23 K& &N 50 | 47 97 122.075.0
24 #klR RER 48 | 47 95 120.0/75.0
25 R BA 51 | o1 102 127.0/75.0
26 HBH @7 53 | 52 105 130.0/75.0
21 MR AR 48 | 54 102 127.0/75.0
28 ¥R FHE 53 | 49 102 126.0/76.0
29 #alR % 5/ | 93 110 134.0/76.0
30 ik RE o1 | 52 103 127.0/76.0
31 AH FE 99 | 99 110 134.0/76.0
32 [RilJIl  FIEE 53 | 47 100 123.0/71.0
33 HE BH 94 | 51 105 128.0/71.0
34 Xig #H 550 | 50 105 127.0/178.0
35 | timz B o1 | 4] 98 120.0/78.0
36 IE FHA 51 | 4] 98 120.0/7/8.0
3/ ik |=E 50 | 48 98 120.0/78.0
38 [IR E 92 | 53 105 127.0/78.0
39 O &d 50 | 54 104 126.0/78.0
40 #MmFE WA 46 | 51 97 119.0/78.0
41 A RBR= 59 | 52 111 132.0/79.0
42 Xu BEE 56 | 52 108 129.0/79.0
43 M %Zi& 5/ | 92 109 130.0/79.0
4 0 TF 54 | 52 106 126.0/80.0
45 #EH EFT 53 | 55 108 128.0/80.0
46 ®RE Fi 59 | 56 115 134.0/81.0
4] B SEuhF 96 | 96 112 131.0/81.0
48 EtiH B 99 | 9] 112 131.0/81.0
49 HP F# 98 | 99 113 130.0/83.0
50 PR IE A 59 | 93 108 125.0/83.0
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Rz—HY P —ERE
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5] BmMER ouT| IN GROSS | HDCP | NET %

b1 IR 96 | 59 115 132.0/83.0

02 i = 55 | 56 111 127.084.0

o3 HE FEi 52 | 5] 109 125.0/84.0

o4 RO ¥X 62 | 57 119 134.085.0

°% TN # 60 | 57 117 131.0/86.0

o6 M BT¥ 5/ | 54 111 125.086.0

o] ®|E 5hF 64 | 57 121 134.0/87.0

58 K#i Z=Bj 54 | 56 110 |22.0 88.0

59 AN ®|A 68 | 54 122 133.0/89.0

60 X #E 60 | 52 112 122.090.0

61 BF FA 62 | 60 122 132.0/90.0

62 Tk 1 66 | 51 117 126.0 91.0

63 B0 XF 56 | 58 114 122.0/92.0

64 TH &K= 68 | 61 129 134.0/95.0

65 Hik B— 19 | 62 141 134.0/107.0
AR BE B 52 | 30 102 121.081.0
BE ke EE 56 | 93 109 127.0/82.0




